
A

A

Schnitt A-A

4
1

1
1

5
4

6
4

3
2

2
1

Pos. Titel Anzahl

1 Kurbel 1

2 Schraube M6x40 ASK 1

3 Mutter M6 selbstsichernd 2

4 Knubbel 1

5 Linsenkopfschraube M3 x 12 IKS 4

6 Mutter M3 4


